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PART - I  

GENERAL KNOWLEDGE (GK) 
	 q11-1 

(QUESTION NO. 01 - 50) 
(311Z9- ,t1,zsz41 01 - 50) 

1. Which 	of the following 	mobile application 
have been launched by government in June 
2018 to track and trace missing and abondon 
children in India? 
1. 	Re unite 	 2. 	Scout 
3. Pathway 	 4. Umang 

1. 'm 	-4 	ril4c1I 	3.1Y 	LP c-z4 ctct 	--): 	ct-,1 

-. 	f7 	of 	2018 	14 	s-kc-.f)k 	-- 	lc i' 

41'1 	-II 	#141-4-- 	R-'icl--1 	cii-ci 	ft-zft? 

1. 	tl- 	Tffr- c 	2. 	.-c-t-)i\ 
3. 	712-It 	 4. 	3#7-T 

2. Which city will host the 15th Pravasi bharatiya 
Divas in 2019? 
1. New Delhi 	2. Gandhi Nagar 
3. Allahabad 	4. Varanasi 

2.  -0-- 	s-11 	71e 2019 	# 	15t- V4T#1. 1-TTR-0)-zi 

ftq-i-i Th-r t 	4)\516IA 	ct) 4 II? 

Ar 1. 	,-1 	ff- 	 2.  
3. 4c,111.511q 	4. 	cikluA 

'3. Which country has successfully launched a 
new communication 	satellite 	"APSTAR - 
60"? 
1. 	India 	 2. 	Indonesia 
3. China 	 4. Malaysia 

3. -APSTAR- 1--7i. 	t71 	-> 	-IL 	t1tIIs< 	\34 4,-I 6 

6C- 	4)1 	‘-it-I-) Q-1 c-I ILi\cic:r) 	galcrul- f+--RDIT? 

1ff 	 2. 	.1.N-it  'D 

3. 	1-9- 	 4. 	-4:0-fTAT 

4.  Which platform has been launched by the 
Union Government on the occasion of 2018 
International Women's day? 
1. Women Entrepreneurship platform 
2. Women Power platform 
3. Women Literacy platform 
4. Women Health platform 

4. 

4RII?  

2018 31-d-6&Yzi -4=r-ft-FT ff-4Ti- * 3M17 LN 

r- 	s-k chid 	. 1-R-r 	cl--).-i 	,di 	,-iti 	Ml-c4 	f -zi-r 

1. -49-1 -1- 	\3-1- til 	4-i-c4 

2. 111 	cT1- Tr4ff 	1-iti 

3. lift-M - i-fa-TRffT 	41-c-I 

4. -6T •-c--IN-Qz1 

5. Which IIT institute has installed India's first 
5G radio Laboratory? 
1. IIT -Delhi 
2. IIT - Mumbai 
3. IIT - lndore 
4. IIT - Roorkee 

5, f+-Ri 311- 	3T11 cc) 	,1~2-TT-9- 

5G 	--ft7jft qz1)-TRTTM 	--2.-TTI:4ff -Th- f? 

1. 31-f 	31-1 	cc) - ft-- r 

2. 3TT- 	3W4 tr - 
3. 3TT1 3f1- 	cc) - 

4. 311-4 3T-I 	c) - 

6. India's flag-bearer at the closing ceremony of 
the 21st common wealth games held in 2018- 
1. Monika Batra 	2. Saina Nehwal 	. 
3. Mary Kom 	4. Heena Sidhu 

6. 2018 	# 	3T-Ritl 	21.4 	sflt 4-1Qf 	4---A- 	* 

f1+-i I LI -f Tililtg -4 4-TR-ff 0)1 	0154) - 

1. 	4-i)1c1,1 	---qr 	2. 	s-114-11 	r)cild 

stli 3. 	#t 	 4. 	lt---r fti-qi, 

7. How many India states share border with 
Myanmar? 

	

1. 	01 	 2. 	02 

	

3. 03 	 4. 04 

7. ft-d- . 4-1-17-erzf 4--Ii4-ik 	2,-; -II 	#1--cfT 
, iia-fr 	ct)c) 	t I 
1. 	01 	 2. 	02 
3. 03 	 4. 04 
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8. First Indian Woman 	lawyer to be directly 
promoted as a judge of the supreme court - 
1. Ranjana Prakash Desai 
2. Indu Malhotra 
3. Gyan Sudha Mishra 
4. Ruma Pal 

8. Tisrff 	 rr-zntirvr 	\h.)4 	31r4 

14q1-10 	51.) 	4-FtRr 	#tcli 

1. 	wpm 	2. 

3. 	I.1 	ITT f#,  TT 	4. 	•0 4-11 	11101 

9. In which 	city, 	India's first helicopter - taxi 
service has launched 
1. 	Bengaluru 	2. 	Kochi 
3. 	Delhi 	 4. 	Kolkata 

9.  41T -Td. 	76-0/1 	Act) i 	N'St 

4 1 -? 
1. 	*Trq- 	 2. 	zr 
3. 	 4. 	ch)rict)lcil 

10.  In which of the following Indian state forest, 
'Appiko movement' which gets inspired by 
'Chipko movement' took place? 
1. Karnataka 	2. 	Uttrakhand 
3. Andhra Pradesh 	4. Maharashtra 

10. "3ficirT). 	 , 

. -R-0-rr vRi 	'Rk 0-1 	qTredrzT 

Ur? 

1. 	ct)-ilect) 	 2. 	\1.c.1\r1M 
3. 	3it-P---Yr 	4. 	4-(17-11K 

11. Official Mascot of winter Olympics - 2018 : 

1. Soohorang 	2. 	Misha 

3. 011y 	 4. 	Sam 

11. - 2018 TT 31TfiTTRT 

1. 	ti)'ti4 1 	 2 	f#FT 

3. 	31)-- t 	 4. 

12. India's first insect museum opened in - 

1. Kerala 	 2. Tamilnadu 

3. Jharkhand 	4. West Bengal 

12. ITIR-ff <PI 	1c,11 Thcrd 	 -R-r7:r 

4Rilt - 
1. 	cfi 	M 	 2. 
3. 	$11.50,5 	4. 	75 11 

13. First Indian woman to fly a fighter aircraft 
solo:- 
1. Narita Kaur 	2. 	Punita Arora 
3. Bhawna Kanth 	4. Avani Chaturvedi • 

13. x151 chifOITF 4 	-,(-1 	'F74 	tr-o-A 
4R-ft ITft-Fr - 
1. 	Tit-d-r 	 2 	VRTT 3ft-RT 
3. 	F1 a-- 1 T-5 	4. 	31'qf ..--ed'f 

14. 	In 	which 	Indian 	state, 	the 	Nipah 	virus 
outbreak was first detected? 
1. Kerala 	 2. Goa 
3. Tamilnadu 	4, Gujarat 

14. fcr1-6-  ci I e-4-1 	";IT'll:f T1 	tiGN 	fT31.  

liTTIerzr 	\.3ti 	zrcTt 	r1 I? 

1. 	c.t -r 	 2. 	4 1)11 

3. 	c-licri,-111 	4. 	ttukicf 

15. What was the code name of the first nuclear 
test conducted by India on May 18, 1974, in 
Pokhran, Rajasthan. 
1. Operation Vijay 
2. Operation Shakti 
3. Smiling Buddha 
4. Operation Ashwamedh 

15. 18 	-411- 	1974 	ct.) 	z1) 	T, 	I vi 	# 
gl7f 	 IrRiTroj 	T-AtaTur 

-t14-1 qq-r P-Tr? 
1. 	3170F9-  fa-zr 	2. 	3titc4-F 7-1ffi0 

3. 	't-4-11 	r..41 	N4-1 	4. 	3-tftrYT9 31-WITT 

16. Project 	launched 	by 	FSSAI 	to 	address 
vitamin 	D 	deficiencies 	(VDD) 	amongst 
youngsters - 
1. Project Sun 	2. 	Project Sky 
3. Project Dhoop 	4. 	Project Sunlight 

16. RtP-1 tr 
cm-) 	FSSAI gTRT 	Tc't TT1 

1-1R4i)\51-1i- 

1. 	t-IRri.-11 	.ii r1 	2.1-1Pg)v1.11 	tcr4 
3. 	\J-1-11 	4.LIR-1)v1-11 
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17. Which 	union 	ministry in 	collaboration with 
Google India has launched a 3600  virtual 
reality (VR) video on incredible India? 
1. Ministry of Electronics and Information 

Technology 
2. Ministry of Information and Broadcasting 
3. Ministry of Social Justice and 

Empowerment 	, 
4. Ministry of Tourism 

17. TIM 	-etzTT 	M 	X16441 	ft--1-  

-4=i- I I e-I 	' 	,.' zr 7-T1R- 	1TR.  360° 	c1-43 1-F 
1-11-- c.r) 	(c11 	3,4-1- ) 	t-tw' 	diti 	( -).ii 	-t? 
1. * (-) cl- 1̀ 	4,1 	.ff2,1-r 	-j,-c4 -I I 	.1') an 4 

12.1-)11 eizi 

2. -Kci,11 	-d-2TT 	,1sil-T7T 	4-i:i1ei 
3. ,-il 4Hircr) 	:171 -ff27,1-  Tfeacict),0-)1 	4-i-)IIQV-I 
4. 1:1-4-E----  Izi- lciti 

18. India has become the member of European 
Bank for Reconstruction and Development 
(EBRD) in year 2018. Headquarter of EBRD 

1. Berlin 	 2. Geneva 
3. London 	 4. 	Paris 

-451-  t&-11(-1-1 t ._is- 

18. 7-1TR-d-  2018 # 1 Lk-i - lui 3Ncfr- T\ri 
t"-. 	4)1 	s-f ,.- 1 	E1-11 	* I 	3T-FR)--- 	tY-. 	(EBRD) 

1. 	-f6-- 	 2. 	Q).)cil 
3. 	cr-Iq -I 	 4. 	Itti- 

19. 'Mount Ojos de Salado' is the highest volcano 
in the world situated at - 
1. Japan 
2. Afganisthan and Russia Border 
3. Cuba and USA border 
4. Argentina and Chile border 

19. 

1. --7-111-11-f  

" 4 -ftgq 	ci,--)r 	 3'-c-11 	Yr-IT--P:A 	-1I 6-;t 
3.4) --  tr 	..-11c,115)' 	3-1-01.-Ta t" - 

2. . 8  	3ItR- 	T)s1 	(Fg-R.  

3. quF 31't-  zkO 	•a-0 c0 

4. 3 	T1I 	31' 	f --''r 	-fg-R- 

20. Theme of the 2018 World Population Day 
(VVPD) is - 
1. Family planning is a human right 
2. Family planning - Call for people 
3. Family planning - Save Earth 
4. Family planning - Say what you need? 

20. 2018 1 -Vq-  Q-1-N-11 ffq71-  cl-)1 	2111:1 * - 
1. 1=TR-T 	i-1)Q-1,-1 	- 	" 	t 
2. 17fffq7 -17:hu1-1 - M)41) * f7 

3. tiit47 R -1) uvi - uTet -4- 3.1-\1-  

4. "ciff-aR 1_1 Q-1 -I - jog 31-7-- -47. --r187? 

21. The Novel that has won the 2018 'Golden 
Man Booker Booker Prize' is - 
1. 	In a free state 	2. The English Patient 
3. Wolf Hall 	4. Moon Tiger 

21. " 4 1\1c--1 ci 	LI-J-IN-1 	fl-Ti--- 	2018 	crt)1 

C4-)7"  TM-cio k In.  t :- 
"b°1- 	 .-R---  s-- 1. 	.-1 3T 	t 	2. 	d7T  4 1A- 

3. 	c. 	6-Icri 	4. 	719- 	tl*JK 

22. The thickness of startospheric ozone layer is 
measured in/on - 
1. Sieverts 	 2. 	Dobson units 
3. Melson units 	4. 	Beaufort scale 

22. * ' 	# 3F4R-QT-d 	 'r 

.4-) 	4 1 U1'11 f+-Ti-14/ 	f+ -1-ti 	--1-ijr t?  

1. 	--1)c,Nt, 1 	2. 	sl 	1'ct-)I  
3. 	4-ic-i'd--I 	ct.)1 	4. 	aKcb-- 	-c.f)c,i 

23. Mudumalai Tiger Resrve (MTR) is now an 
Eco-sensitive Zone (ESZ) located in - 
1. 	Kerala 	 2. 	Karnataka 
3. Tamilnadu 	4. Telangana 

23. 1W1-6-T 	ql-F-1- -#.R-Wd--)--. 	( 4-10 	cc)0 	3T170) 

c1-)) 	3T4 TITN`fr- 	•-k rd 	(*) 	-io 
v)50) -F-tffka f+--4r TrErr t, 3T--ai- --4-ff t - 
1. 	cf-Pei 	 2. 	cfr-iitct) 

3. 	(-11-k,i-K 	4. 	(44 11,11 

24. 	A 	useful 	biological 	indicator 	of 	Sulphur 
dioxide pollution is - 
1. Bryophyte 	2. 	Lichen 
3. Pseudomonas 	4. Algal blooms 

24. ,1(-14-) 	.14.31141iT 	MTPT 4)1 --ft--.  sl\-c-Tch 

t.  - 
t 1. 	Wv.1)t-1-)1 	 2. 	MI* 	-1  

3. 	, 1514-1)--IN1 	4. 	Qi 4 lei 
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25. The person who won the first gold medal for 
India in common wealth game - 2018 is - 
1. M. Chanu 	2. Monika Batra 

Mary Kom 	4. Babita Fogat 

25. 

1. 	.R1=10 till 	2. 	1#12 T WWII3. 

cab -a-4fr f .i-{-  2018 cri141.1czT A-19- 4 1.1ifff 

FM' L-1601 3 -0-1TqT 	41,‹-, f --zrr t 

3. 	4)Rch14-1 	 4. 	-4R-ffr tb-- Trr 

26. The inventor of video games is- 
1. Ralph Baer 	2. Ralph nadal 
3. Dustin Johnson 	4. Michael Johnson 

26.  fe0.1)1:1 	5)k1c,t)c11 * - 

1. 	"RIFF •4-zi7 	2.7TFF -9.-1 ei 

3. 	3-it9.  vii-1,ti-i 	4. 	HI*cr)ei v11-itl-1 

27.  The Sangai Festival is celebrated in - 
1. Assam 	 2. Manipur 
3. Mizoram 	4. Nagaland 

27. ti4 q \ictici 1-i-imi Aid' t - 

1. 	31TRWIT (3i 	f) 	2. 	Ti1 

3. 	funv-i 	 4. 	•iiiiielus 

28. Each year Ramzan occurs about 	 
from the previous year. 
1. 	11 days earlier 	2. 	11.days later 
3. 17 days earlier 	4. 17 days later 

28. 'cf- IT. 	15i 	.< 41v,il-1 	f4ut 	-44 	-$ 	p-T-4--- 

1-flTTT fkff.4 1 	1 &RI zur t-6 6loi t? , 

1. 	11 R-I ITO 	2. 	11 frt GIN 

3. 	17 R-1 trgt 	4. 	17 f".-1 GI lq 

29. 'The world Beneath His Feet' is a biography 
of - 

• 1. Ajit wadekar 	2. Sachin Tendulkar 
3. Nawab Patoudi 	4. Pulela Gopichand 

29. '' cic4 AtttT ft7 'Eft' A -----rfftWI 

t 	 
. ri 1. 	31-f -d cii 	cr), 	2. 	-R-A-8. 	ct)•< 

3. 	97-4 trdtth 	4. 	*FT 4 1)11Yriq 

30. Which among the following is played on a 

synthetic hard-court? 

1, Australian open 	2. Wimbledon 

3. French open 	4. All the three  

30. 1 4---AR5cl 14 34 col-i tie)1".4cf T.-a-R.  coV 
1TR. 4-0-1 vi ict 1 t? 

1. 	3TRtrd7N Z*07 	2. 	q ,sic,i5-1 
3. 	31)"e 	4. 	\3L-k)ctriM 	 A/191-  

31. The 	share 	of 	Government 	of 	India 	in 
NABARD is - 
1. 50% 	 2. 51% 

3. 75% 	 4. More than 98% 

31. '91-41-4' 14 1117ff *Ncoiq TT f+-:ff-qT itf<tIT t: 

	

1. 50% 	 2. 51% 

	

3. 75% 	 4. 98% 34 3T 

32. If an egg with shell is placed in a microwave 

oven, and microwave oven is switched on, 

which among among the following is most likely 

happen? 

1. The egg will not get warmed. 
2. The egg will get cooked slowly similar to 

aboiled egg. 
3. The egg shell will explode. 
4. The egg shell become yellow. 

32. 4.41 Bch 3t4r chcrci-I tra7,, 4-ilsr))4i 3N-9.  

4 ̀ 4.q1 kr11C11 t *IR. 4-11Staci 3.4-q- ff 	r 

31-ta-  f -zn.  utroi t, 	1-4-.-AfZgo # call 	6) 

'R:rniT-49-r Th`l. 	w4a.  t? 

1. 313f TO 161 $1,ii 

2. 31-dT stft-tk 3-0-F-4 (14  +if 

3. 31 	TT cPcIrl 	4'c 	vilt41 I1 
4. Sit TT coo-4 ItIFT 117 viNiii 

33. 'Saffron' is obtained from 	part of 33. "tr-Ft9” 	 '' (*r) 1110 	ic--ii 'Writ ARr 
the plant. 	 , 
1. Stigma 	 2. Anther 
3. Stamen 	 4. Pollen 

f .-zrr vim' t? 

1. 	tbilil 	 2. 	1.N1 4 1.4))4 

3. 	tOVR 	 4. 	t171-11.  

07A 
	

Page 5 of 28 



34. Pest-resistant cotton commonly known as 'Bt- 
cotton' is genetically engineered by inserting 
a gene from - 
1. Bacterium 
2. Virus 
3. Microalgae 
4. Protist 

34. 'Bt--1)4N1 .elZ 3Itl 	chLik-i fir-ik ,641I.-elc1: 

--1:1 tf 	vii-iO 	t, 	Q),;fch 	f'-f4zTR.TI 

gki tz:17 f51T \yin t I 7:1-4 frc 1-4)tichi 

Al -Oka: f -ti-r vim! t - 
1. 	ct 	q 4-I 	2. 	cil-1 

3. 	4.1i*skon 	4. 	1;1'F1RZ 

35. From which language the word Democracy' 
has been derived? 
1. French language 	2. Greek language 
3. Urdu language 	4. Dutch language 

35.  ',;4-1) ,@ .lisq 	-1 -Ti 1.-Trqr 	-f -zi-r 	+I z.ii 	t? 

1. 	tb-R-R-# qi-rErr 	2. 	.S.91-41-  971T 
3. 	1-1T17 	4. 	s.t.i ITTTIT  i 

36.  Who is called the "Patron of Constitution"? 
1. President 	2. Prime-Minister 
3. High Court 	4. Supreme Court 

36. -TiFaUT9' ' .1 'clioir.' ft ci-)61 	viidi t? 
1. 	TiErErM. 	2. 	1>TUT91t41.  

3. 	‘3vci .- .11q1c14 	4. 	.till-G-ci 	-e.iNie-Ri 

37. What are the Prime Minister's office, Defence 
Minister's office and Minstries of External 
affairs jointy called in Delhi - 
1. North Block 	2. South Block 
3. East Block 	4. West Block 

37, ft--- t 	# -ftem 	wimitt 	ct)midz4, 	wr 
i-ilic,vi 	ZN fd---4-r i-i.:floq 	ci->it4 oq. 	co 
tTpTt ,(r)I4 11 ct)6i ‘it id i t - 

1. 	t21 	fici, 	2. 	*H0721.  €Qiich 

3. 	4i: 	SC; ICP 	4. 	.-e Gc-lich 

38. Who prepares the topographical maps of 
India? 
1. Geological survey of India 
2. Survey of India 
3. Defence Ministry 
4. Home Ministry 

38. '617ff -44 	:P-TFT-ed-T iii-a->f ct- -1 	i-flc1i s- 

1. 1117jdrzi 1-rawf' 	70aTur 

2. 7-17ff 	tiaailiT ftl-TITT 

3. --i-I 	+-i.711c,“-1 

4. ,0 	1-i1lriq 

39. Which state is famous for step wells? 
1. Maharashtra 	2. Gujarat 
3. Rajasthan 	4. Manipur 

39. .* chl-i TIT .1 vel GI Ica q) 	f:'-q-  qftr4-  t? 

1 	1-11'<1 	 2. 	tIvklcl 

3. 	.T7-i.e..TT- 	4. 	Tiftug 

40. Who has been honoured with Ashok Chakra 
(posthumously) on 26 January 2018? 
1. Jyoti Kumar Singh 
2. Jyoti Prakash Nirala 
3. Jyoti Vishal Gupta 
4. Jyoti Singh Maan 

40. 26 	-9-1-tl. 	2018 	'W\E 	ftt 	zrz41- 	-cm) 
(4-k44kict) ti t11-11110 Itzrr 4  RH? 

1. 	uzl'fft ct21-ik Rtg 

2. 	uzilt mchm f47T-aT 

3.1-1.ft fOTTF tt t-c-i 1 

4. 	.tit itt 

41. World Sustainable Development Summit - 
2018 held in - 
1. America 	 2. Japan 
3. India 	 4. 	Pakistan 

41. f4V-4 TEd7 faTITI* ti+-4)0.1 2018 3T711-r-A-ff 

Pir - 
1. 	30fRwr 	2. 	vir-li-i 

3. 	FRU 	 4. 	4114)tcti-i 

42. In which year `Sh. Atal Bihari Vajpayee' was 
honoured with 'BHARAT RATAN' 

	

1. 2012 	 2. 2013 

	

3. 2014 	 4. 2015 

42. '31 5f1- 	-Ca-  f4tItt cilAW Th-).  Wii qtt ITTR-0*  
.“-i 	tp-4-1110 fur Trzrr zre 
1. 	2012 	 2. 	2013 

3. 	2014 	 4. 	2015 
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43. 11th  World Hindi Conference was held in 
which country? 

	

1. 	India 	 2. 	Myanmar 

	

3. 	Mauritius 	4. 	Thailand 

43.  1141 	fr 	t--4t 	-14-4)(1.-1 	f+i 	-k7T 	# 

3Tizltf -d 	3,1-r? 

1 	 2. 	4--114-ik  . 	4-1TR-U 

3. 	4-1-IRPI.LN1 	4. 	2TT-4A.cr 

44.  44. The 	Zero 	Discrimination 	Day 	(ZDD) 	is 
celebrated on? 
1. May 8 	 2. June 6 
3. March 1 	 4. February 7 

- 1--- T '0,1-TN ft -4R].  (ZDD) 41-11q1 	vil(-11 t? 

1. 	8 	4-I 	 2. 	6 	_1-1 

TfT4 	 th7-41-  3. 	1 	 4. 	7  

45. In which country of world 'Universal Adult 
Franchise started in 1893. 
1. England 	 2. America 
3. Japan 	 4. New zealand 

45. raT4 .14 1893 14 f+-Ri tc4.f 14 ROI-VW a-N-(0 

Tiffff4WIR. .7.  War Trzur? 
-T1- ti 4RTh-T 1. 	A Z 	 2. 	311  

3. 	uilt-11-1 	 4. 	̂zkuMJS 

46. 

. 

The company that has set up the world's 
largest mobile phone factory in NOIDA - 
1. Apple 	 2. Samsung 
3. Xiomi 	 4. OPPO 	• 

46. 

• 

qg -- 9--41., f -RT4fa...4-4 c. 61 -TT-. 4 --- 	4 - 4 1- 19)--4T-0-  
IT-.)'M 1=b--4Z-- t ct)\1 -1\11 14 .R2TT 	ff fir * - 

	

1. 	7F-1-c 	 2. 	ffiTT 

	

3. 	uNtlf# 	 4. 	31).ut 

47. The curriculum that has been launched by 
Delhi government in July 2018 is - 
1. Mindfulness curriculum 
2. Meditation for all 
3. Fit Delhi 
4. Happiness Curriculum 

47.  

48.  

Q1c114.-2018 	14 ft---A)- 	t-Ncl-)k 	giRl.  3TTRT1T 

f+-zur ,l 4l mfr 1iidw)41 t - 
1. 	,d 	(-1-1 "cf1-4WT-f 	2. 	uffq 1-11qqa)4-1 

3. 	•-cisM ft'i 	4.k-01,-)\L-i 	t-Ilqqs-b 4-1 

48. In which year Dadasaheb Phalke Award' was 
instituted?  

	

1. 	1963 	 2. 	1965 

	

3. 	1967 	 4. 	1969 

'qii -116,5.1 	"ob-1(' 	-c.t)k 	f ---fl- 	citi 	3TR-424T 

	

1. 	1963 	 2. 	1965  

	

3. 	1967 	 4. 	1969 

49. The Japanese art "Ikebana" 	is related to 
which among the following? 
1. Wall painting 	2. Flower Decoration 
3. Chorus Dance 	4. Sculptures 

49. ' ----4--F91 ufigNi) 	cbdi 	 Pi 	4 t f+--Ti34 

-RTIATU *? 

1. 	ft--41R-1 -=14)1 	2. 	Vil.  (6) 	-1\rilcW 

3. 	Rily 1-z31 	4. 	T-0-41- 
50. 	The 	mountain 	pass-that 	forms 	the 	̀Tri- 

Junction' of India, China and Myanmar. 
1. 	Nathula 	 2. 	Jelepla 
3. Bomdila 	 4. Diphu 

... 

50. c16 1-1-4-d. 	q'l 	vt) 	T[ 	T, 11.9.  3t 4-Lii41k 

-1' 	1.--i4m A-ticit t - 
1. 	.1.2 -6.T 	 2. 	v)c)l-leil 

3. 	61) 4-11 	eil 	4. 	f4-EF, 
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PART - II  

GENERAL SCIENCE AND MATHEMATICS 
Fri AR TrPrd 

(QUESTION NO. 51 - 200) 
	 RtOL1T 51 - 200) 

51. The velocity (v) - time (t) graph of a body 
falling freely from rest under gravity and 
rebound from solid surface is represented by 
graph,- 

	

51. 4SOCCI 3TPcf~fi %14-11C-IT Th-Tei 	C•t) 

c1, 1 	 d'N-1 flc16 	.3uocr-7 

tioeit •dc.rd 	 (t) 	1404 ti- 

1. 

3. 	 4 

1. 	 2. 

4. 	N,  	r 3. 
r 

52. A ball 'falls freely from rest. The ratio of 
distance travelled by it in first, second, third 
and fourth seconds is 
1. 1 : 1 : 1 :2 	2. 1 : 2 : 3 : 4 
3. 1 : 1 : 1 : 13 	4. 1 : 3 : 5 : 7 

52. 	-) 	114-ituo-fr  	ftiTer 

t I \3flc .g7-Tr 	 --6110 

two 1) -TR-ft ch1 3T 	f 614 ii 

1. 1 :1 :1 

3. 1 : 1 : 1 
: 2 2. 1 	: 2 : 3 : 4 
: 13 4. 1 	: 3 : 5 : 7 

53. What is the ratio of SI unit and CGS unit o 
53. 	

G 
. c't SI 	CGS 11-=,14) cN 31-11:Fff 614 11 - 

G = 	 cci 

g = 	ccHuf 
1. 10 	 2. 102 
3. 10 	 4. 10-2 

( 0 

g 

G = universal constant of gravitation 
g = acceleration due to gravity 

	

1. 10 	 2. 102 

	

3. 10-1 	 4. 10-2 

54. A bullet in motion hit and get embeded in a 
solid resting on a frictionless table. What will 
be conserved 
1. Momentum and kinetic energy 
2. Momentum alone 
3. Kinetic energy alone 
4. Neither Momentum nor kinetic energy 

54. 	u7 Tft-4r -Trf 	 Tf 	 

T€4 	6):-1 	 0-szi 

c41-i#R- a-rm- 	4 11 

4 

2. 3r---a-r Tf 

3. C.fCICrl TT% 	6-)1/43-11 

4. 9 c-1) #41-1- 311R 9 	 \3-)\511 

55. A graph is drawn with force along y-asix and 
time along x-asix. The area under the graph 
represents. 
1. Momentum 	2. Impulse of force 
3. Change in velocity 4. None of these 

55. y - 3TaT 	clq1 x - 3TaT 	 t•- • 

1TTT 	TRTI 	I -4 !Lf> 	 f4R-1 

g 1 

1. TT 	 2. 	nT 3T1-411- 
3. 1I 	 4. c4") 
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56. A body floats with -1-rd of its volume outside 
3 

water and - -- th of its volume outside a liquid. 
4 

Then density of liquid is - -0-R-th 

56. L;ct) ---qiTTT 	1:1T4)' 	cl) 
3 

cN-q 

-q-  

t I 

3f11-4- 	311-4-(1-9" 	c 

ql-g7 
3
,.'7-711-  -r+-- Tt 	-) 	qc1 ct ql-R 	•qc.1") 

*-f 	0 	q-)1 	E1-1cc1 	6) 4 111 

1. 	-
3 	 8 

g/cc 	2. 	-g/cc 1. 	-
3 

g/cc 	2. 	-
8

g/cc 
8 	 3 8 	 3 

3. 	2- g/cc 	 4. 	-
4 

g/cc 3. 	'2- g/cc 	 4. 	-
4 

g/cc 
4 	 • 	9 4 	 9 

57. A bullet is fired from gun. Which will have 57, p 	61,-q,ct) 	f 	\c 	Tn--- 1 	c-t))- 	"Esst"T 	vilcli 	* I 

greater kinetic energy the bullet or gun - G1,-V) 	4 l) c* 	-4 	.R4 	fa-)s-icA 	Trfd- 	v,,,,,11 

	

1. 	gun 

	

2. 	bullet 
1. -4-  

I vhf --q t-ri't 

2. TItA.  
3. both have same kinetic energy 3 	q1. -1I - t 	c.-f) 	-RT9-19-  Tffflui 6w-it 

4. 	Insufficient data 4. 	3Turzltcff ull-ic-pl'a 

58. Which is the best graph of total energy (T) of 58. c-t-)-c-ici---i 	W:i 	t 	Th-Rt 	c(fa-Ti 
freely falling body and its height H clp 	6)uif 	(T) -d-2TT TT-el.  6•;-c,11.-  (H) -  r0-7 

T k-IT:4-K1 liFF 0 4 17 - 

1. 2. T 	 T 

1.  2. L.  Fi 
T 	 T 

H / H 
I 

3. 4. 

3. 4. 
H H 

59. A mass of M kg is suspended by a weightless 59, -) M 	(244-ii-i 	cN-cj 	q04-11--1 -ft--d 
string. The horizontal force that is required to t '--d--c't .I 31- 	.147721- 	alt---  qF \3-1) 	ct)) 
displace it until) the string makes an angle of 
45° with the initial vertical direction is - fo-Rwri ci-, 	-fff . Tr-g-  mP4T-- 	Tg-cilzR 

1. Mg 	 2. MgO +1) .ft,11-  R:)-  45° 	4)1 	-11JT Tql- -c-).  - 

Mg .1. Mg 	 2. Mg(-5 +1) 
3. 	ii/fg-N/2 	 4. 	_ Mg -‘12 3. Mg -F2 	 4. -T- 

-N, 2 

60. Velocity time graph for a ball of mass 50g 60. 50 -fl-Ff cfil Bch 	Th--t Ll,---dm---er -g- 	1c.1-)1 
rolling on a floor is given, the frictional force 

4 1-*I -R1 	4,11-f) F441.  * I We g-M 4q 	1-k 
of the floor on the ball will be - 

(-141RII TRU Erish 	04 111 
Velocity (m/s) 

Velocity (m/s) 

100 _ 

80 _ 100 

60. 80 

40_ _ 60 

20_ 40 

Time (s) 20 

0  2 	4 	6 	8 	10 Time (s) 
2 	4 	6 	8 	10 0  

1. 	0.5N 	 2. 	1.5N 1. 	0.5N 	 2. 	1.5N 

3. 2.5N 	 3. 	1N 3. 2.5N 	 3. 	1N 
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61. The average density of the earth in terms of 
g, G and R 

9g 	 3g 
1. 	 2. 

61. 1:12-ct V 3113Th. 	-1--1cci g, G -d-2T1 R  
# 6)4 11 - 

9g 	 3g 
1. 	 2. 47/G 2R 	 47rGR 

.3g 	 2g 
3. 	 4. 

47rG2R 	 47zGR 
3g 	 2g 

3. 	 4. 27/GR2 	 3n-RG 

g = acceleration due to gravity 
G = universal gravitational constant 
R = Radius of earth 

2.iGR 2 	 37z-RG 

g=1- 17:1 c-ckul 
G = Ti1-47-11#1 	4,V)c-t1 I OA ul 31-q 
R=li2t ,_-) f --c-zr fT 

62. A ball is droped from a height of 10m. If the 
energy of ball reduces by 40% after striking 
on the ground. How much high can the ball 
bounce back. back. 
1. 10m 	 2. 8m 
3. 6m 	 4. 4m 

62. c.t) 	n.q 	c1 	10m 	c,) 	S)-cil 	0 fiRTTTT \TIMl 

t I tift tj-c-t 1-k dcb‘fl-) t UTIMr \3w11 40% 
t 	-1:1 	- {-01. 	t 	c-i) 	-4-q- 	tct)1.) 
f+---d41-  4,-cif 	oct) click-I 38-Tfr - 
1. 10m 	 2. 8m 
3. 6m 	 4. 4m 

63. 

• 

A submarrine emits a Sonar pulse which 
return 	from 	an 	under water 	cliff 	in 	1.05 
second. If speed of sound in salt water is 
1531 m/s. How far away is the cliff. 
1. 	1568m 	 2. 803.7m 
3. 1607.4m 	 4. 765.5m 

63. ci.) 11-9i* ,d).-IN tc i \ic\J-11Z1c1 	t 
-ff2-1T (=i 	ATE 	31---R- 	-) f4---c7 t 	ci-),&t, 

1.05 	ti---13 	# 	(41 k-k-i 	3ff 	.7Tef 	t I 	&TR 

--19c6)-1 tiTt # 	1 4 T-41Q1 1531 4-1)0/t0 

6) cif f4-61--F -1 -0--4i v R24--d-  t I 
1. 1568m 	 2. 803.7m 
3. 1607.4m 	 4. 765.5m 

64. The frequency of a source is 20KHz. The 
frequency of sound wave produced by it in 
water and air will be - 
1. Be the same as that of source 
2. Depends on the velocity of the wave 
3. Depends on the wavelength of the wave 
4. Depends on the density of medium 

64. 

6 l 	-  

c.t.) Titff 4 3T-1p 20KHz * I 	*flc. 	TAT 

c-Li .--i 4 Trt 	-4f 	4 &r-q-ir trrt TRH 

ci 	4 -gYrrr 
1.Tf)-ff 4 31-r-qTh- * 	-141I.1 

2. (-1 4 I 	1 l 	I-N N-R-  T----dt t 
3. c-I•k 	4 c-i ,k tul TR -ftli-R- .-ed't 
4. liTuf# 	-1-1c-cl 	tr--  

c.t-, 'Th-ur AT RThi- 	an 	u 	cP-TT CC-NUF a 	c.t) 65. A particle is moving in a straight line with 
initial velocity u and uniform acceleration a. If 
the sum of the distances travelled in tth and 
(t+1)th  seconds is 100cm. Then its velocity 
after t second in cm/s is 

	

1. 	20 	 2. 	30 

	

3. 50 	 4. 80 

65. 

fl, Q1 ---G-r A -c4o 	l * 13T-1H t 	-uair (t+i)-4 
T)-wir .  # .q-- 't Trt c1-3c-r Vt 100cm of 
t 	4---Er 	-fq \ -1(-1-)1 	1 l 	cm/s f 611- 
1. 20 	 2. 	30 
3. 50 	 4. 80 

66. In a rocket fuel burns at the of 1Kg/s. This fuel 
is ejected from rocket with a velocity of 60 
Km/s. This exerts a force on rocket equal to - 

	

1. 6000N 	 2. 60,000N 

	

3. 60N 	 4. 600N 

66. c-t-) 	-trf+- 	# 	'.1e1 	.4,er 	cs 	1Kg/s 	t I 
L16 - ti9.  tft----  t 60Km/s 	-1-6-R.  rct)Q1c1) 

t I 7:1 	tr+Z CR Gicl (14 1101 t - 
1. 6000N 	 2. 60,000N 
3. 60N 	 4. 600N 
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67. A ball is dropped on the floor from a height of 
20m. It rebounds to a height of 10m. If the ball 
is in contact with floor for 0.1s. What is 
average acceleration during contact. 
1. 142 m/s2 	 2. 285 m/s2  
3. 338 m/s2 	 4. 564 m/s2  

67. .sr) 	4Iq 

t 3tR.  

-R-01 NT% 	t \i,;t4 t (1 zrR.  it 

slep.' \3Ucvl 	ct) 	10t0 c6) 	‘i;til 	cict) 

71t t) zi-TR 4q 1-i* TrP:r 	4 ftit 

0.1s Oct) 	‘tg) 	r 4).q ---r 3ftuff ccpoi 	61411 I 
1. 	142 4-0 /t02 	2. 	285 TWO /t02  

3. 	338 Tir0/to2 	4. 	564 tO / 7402  

68. The roofs and walls of the auditorium are 
generally 	covered 	with 	sound 	absorbent 
material to reduce 
1. Velocity of sound 
2. Reverberation of sound 
3. Frequency of sound 
4. None of these 

68. Tf4TTITR c4) too q tr-OF TITZTRurd7:1 Z•qf 

WrR3r 	qq121 	-9-r- r. um) 	# 	1..-1 

•tict) 

	

1. 	wfi 

	

3. 	w1 .  

cP 41 cp' 	fo-R. - 

.wr 	4 1 	 2. zei 4 vtrocifi 

4 31-r-Ift- 	4. 	t cl.)) 	-Igi 

69. A stone is dropped from the top of a tower of 

125m height into a pond which is at bottom of 

tower. When will the splash be heard at top. 

(g=10m/s2, speed of sound = 340m/s) 

1. 5 s 	 2. 0.36 s 
3. 5.36 s 	 4. 2s 

69. cch 11-0-R 125 410 f lit9T7 	\Ivc-icl+i 

f4-- 	3). 	.-1,4', 	oei 	* 	LIN-I 	R-2-Td. 	clic1161 	# 

f4R-F 	*Q.17 ftrTA. 	f'---d -  39-44 rr 	\yin 	II:IT- 

Gllq 	LII,-1) 	34 3-i=ft 	31T-I-M ilf9R * 	‘3fl 

\3.D-cicy-i 

(g=10m/s2, 
1. 	5 s 
3. 5.36 

R- 	1:R t,114 VII 

te4 4 -cud 3401#0/t0) 
2. 0.36 s 

s 	 4. 2 s 
70. In distance 

which car 
speed. 

Time (t) 

1. A,C 
3. A,B 

time graph of 3 cars A, B and C 
has highest speed and lowest 

i.• 

70. cl)--1 *IA A,B 	2TT C 	ftR f 	-11-7 TI-97- 
Vt 	+,I II 	3FIRTR. 	*9-iit 	ct-)1 	ca 

3-14-t-ffii 

Time (t) 

1. A,C 
3. A,B 

Distance (x) 
 

q -Tto+-i tilcl ert I 

io. Distance (x) 
2. C,A , 
4. B,A 2. C,A 

4. B,A 

71. A riffle bullet losses y0  th of its speed in 
2 

passing through a plank. The least number of 

such planks required to stop the bullet is 

	

1.5 	 2.10 

	

3. 11 	 4. 20 

71. yr) 'W-Ori ca iff-A-  3i1T1 tilri Tf i 
2
0th 

-) 4,1d 	t RcOe) 4 ,o)  kt-  t 	cpii 

t cr)i-f f .914 3iTer 	-44 t \Lict,  +Itc 	 -Gil el V 

2.10 
4. 20 

6 4  - 
1.5 
3. 	11 

72. Minimum number of unequal forces which 

can can give zero resultant is - 

	

1. 2 	 2. 	3 

	

3. 4 	 4. More than 4 

72. 1,-,q 	tiRuilill 	tici 	*.1RTL 	cr71-1 tf ch +-I 	- 

3-13911T9- 	1c1 	-rft-R- I 
. 2 	 2: 3 

 
1 
3. 4 	 4: 4t 3TR1T 
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73. A particle starts from rest, its acceleration v/s 
time graph is is shown in fig. 

acc. 

10 m/s' 

73. 	4717 	31TR1241 ct-) c 	ar L ci-) 'T 

c-cHul-TrTzf ITFT.  ffziT Tizff 	- 

♦ cr_N U I 

10 m/s2  N. 

0 	 11 ► 
 Time (s) 

The maximum speed of particle will be 
1. 110 m/s 	 2. 55 m/s 
3. 550 m/s 	 4. 660 m/s  

	 (o) 
11 

aff4wdizr 
1. 110 m/s 	 2. 55 m/s 
3. 550 m/s 	 4. 660 m/s 

74. Four forces of equal magnitude P,Q,R,S are i 74. 
acting on an object as shown in figure. Which 
of the following forces does the least work. 

	

-el ll GNIGH LIR4-1 I u 	f 	P, Q, R, S 	c“-q 

	

111Tt-IN (14) 	1 -r1;=1 

m-r4 	 t! 

Direction 

of motion 

	►  

1. P 
	

2. Q 
3. R 
	

4. S 
1. P 
3. R 

2. Q 
4. S 

75. An object is vertically thrown with some 
velocity and passes through same point after 
2sec and 10sec respectively, the time at 
which its velocity becomes zero - 
1. 2 sec 	 2. 10 sec 
3. 4 sec 	 4. 6 sec  

75. 	 Thai 31K 

-1 I cl 	I t 3417 	ch 	 f3-)-  2s .-2-TT 10s 

tt,-kor t! ci 	 n7i 	\3 -141 

)4 11 - 
1. 2 sec 	 2. 10 sec 
3. 4 sec 	 4. 6 sec 

76. The graph between velocity (v) and mass (m) 
for constant linear momentum is 

76. 	ft-q- 	 f -q•, d 4 1 (v)f c c2-14-11-f 

(m) 	4,114) 	i 	- 

1 
1. 

m 

v • 

2. 

v+ 

3. 

2. v  

4. 

►m  

77. A stone is dropped from a certain height 
which can reach on the ground in 5s. If this 
stone is stopped after 3s on its fall and is 
again released, then the the total time taken 
by the stone to reach the ground will be - 
(g = 10m/s2) 
1. 6s 	 2. 7s 
3. 8s 	 4. 9s 

( m  

77. 	l ch la-cQ-17 Tio \3,-c114 	firR-P-Ir ,-mot t-  I .)-11 
-11)-9- 	trp-4 # 5s Q)cll 	1 31-TR ItRt 

V, firT4 	3s 	41q tre217 •)c.f.>1 u1101 t 

	 f 	Z5t4T ,fficir 	riTQTR" 

ct)) 	Oct) 1:1-44 A clp --1 4-14 M4)4 11 I 

(g=10m/s2) 
1.6s 	 2.7s 
3. 8s 	 4. 9s 

4. 

	o'm 
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78. Displacement 
travelling 
Find 

time graph for a sound wave 
with a velocity of 1500 m/s is given. 

the wavelength of the sound wave - 
Y 

Displacement (m) 

Ilk 

78. 	1500m/s Th-). -WM t 	6-th # Z4i .  t-1 4 r 

col fa .2 --9.--wrzr iTrcF ftzrr 4  P4 I t  

c-i 4 i Th-l-  c-1 4 I taf 5)4 ii 	- 
Y 

Displacement (m) 

ir 1  me./Rh  mor 5 	X 
Tin...121) O 

X 
1 	3 	STime (µs)*  

1. 	5x10 
3. 2x10 

-5m 	 2. 3x10-3m 
-6m 	 4. 	1.5x10.3m 

3. 
1. 5x10 

	

-5m 	 2..3x10 3m  

	

2x10-6m 	 4. 1.5x10.3m 

79. Displacement 
given. Its velocity 

v A 

Disp. (x) 

time graph for an object is 
time graph will be - 

Time (t) p.t 

79, 	Lco 	cif -q c1)1 ft"-Q-111Tff TITRE 	4,114) ftziT +N-II 

*t I \c 	f'd7 
V 

Disp. (x) 

41-t14-R1 IzEff 61411 - 

. 

Time (t) 
V 

1. 

• 

ti  Ae' 2. 

V 

1 • 

t 
 A V 

 2. 
►t 0-t 

V I 
► t 

v 1 V A 
t 

3. 4. 
►t 	4. 	 t 3. ►t ►t  

	

80. 	The rate of change of momentum per unit 
area represent 

	

. 	1. Force 	 2. Energy 
3. Pressure 	 4. Power 

-Dt 80. 	*chi 	-)-T:FF TR 	1 	4 	61-----  q' 

V--Ptd.  cl.)c-l1 t - 

1. 	cid 	 2. 	cfivi1  
3. 	T41-4 	 4. 	ail:MT 

81. 	Which of the following works on the principle 
of conservation of linear momentum - 
1. JET 	 2. AEROPLANE 
3. ROCKET 	 4. All of these 

81. 	. --drzi *i 4 i 't-i'aIDT * F4E1T9 IR 3ITZITf M.  tl 

1. 	kJ) 	 2. 	cliT41-1 

c. 	 3-Pi't 3.'ie 	 4. 	\it-k)cto  
82. 	When the surfaces are coated with lubricant 

then they - 

1. Roll upon each other  
2. Slide upon each other 
3. Stick to each other 
4. None of these 

82. 	vIts1 	q) 	'14-(-1(45)(-1 	tic151 	1:F 	fA-W-- T 	.all-T4- 

fef t th.  - 

1. -4 	.) vl 	ER TA t" 

2. c.t) q'd 	zR 14)1010) t 

3. c.f) 	V-1 	tR it-Ict)ci) t 

4. \3Qc1\-1 f t ct)) 	.9-jet 

83. 	If momentum of a body is increased by 20%. 
Then its kinetic energy will increase by - 
1. 48% 	 2. 44% 
3. 40% 	 4. 36% 

83.Tff .  r+-3-# c.1, -q 	-1.41 20% Giq,l ftza v11(11 

-q--Tft t .th.  Trrd--  owil 

	

1. 48% 	 2. 44% 

	

3. 40% 	 4. 36% 
84. 	Kepler's II law regarding constancy of areal 

velocity of a planet is consequence of the law 
of conservation of - 
1. Energy 
2. Angular momentum 
3. Linear momentum 
4. None of these 

1. thvil  

84. 	',I 	4?-1---41-4 	4 I 	t .R.P-Zifci*F-67 	COI 

W171 .ftzFr .WR-i-- 	*kTur IF 31-m-rfto-  t I 

2. --\MI-zr 	,i1 
3. ---dizi 	-i 4 i 

4. \3Qctcl # .4 cl.)) .  r19 	• 
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85. On increasing the temperature of iron bodl 85. 
gradually its colour becomes 
1. Red 	 2. Green 
3. Yellow 	 4. White 

chr) 4)1 	c111-1 	'q-dTt 

•6 izR \3•6(4-)1 TT T uitoi 	t I 

1. oici 2. 

3. 1'1M 4. 	Tiltb-q 

86. A beaker is completely filled with water of 
4°C. It will overflow if - 
1. heated above 4°C 
2. cooled below 4°C 
3. both heated and cooled above 4°C and 

below 4°C respectively 
4. None of the above 

86. 	chtT-R' 4°C < 1:11-141 	7TRT t I 	6 1z17 

7J-T 	I 	- 

1. 4°C t 	4 14 c.r) 

2. 4°C t 	del c 

3. \3Qctc-i q).-I) (1) .24-f (2) 

4. 3T-RTci-cf 

87 Time period of simple pendulum of a clock is- 
1. 1 s 	 2. 2s 	• 
3. 3s 	 4. 4s 

87. 1E111. 	d)c-lcio c4-)1 3774 (pm 	 slci l - 
1. 1s 	 2. 2s 
3. 3s 	 4. 4s 

zfft c,10 zit 	ft;Err 7471 	t 

(q) 411-1--1 4) ,o qrt)  	TR.  

\snot t1 c1 l - 

1. . -T1-4 <hl 	 LiRci c i -9-t 

2. ch14-1 	fi 

3. t).  7-Ittf 

4. i1 

88. If a watch with a wound spring is taken on the 88. 

moon, then it - 

1. Shows no change 

2. Does not work 

3. runs slowly 

4. Runs faster 

89. A particle is executing simple harmonic 
motion with frequency v. The frequency of 
oscillation of kinetic energy will be. 
1. v/2 	 2. v 
3. 2v 	 4. 4v 

89. L  ct.) ct)ur v 31-E& 	c.f) 

Tifd7 0')\111 c6-) 31-EqTh ten" - 

1. v/2 	 2. v 
3. 2v 	 4. 4v 

90. A boy of mass 50Kg runs up a staircase of 45 
steps in 9s. If the height of each step is 15cm. 
Power of boy is 
1. 0.375 Kw 
	

2. 3.75 Kw 
3. 37.5 Kw 
	

4. 375 Kw 

90. 	L,cr) 50 .1 -1-Z <01 c-Iscr) I 45 t4titzt 9s 1).  

zrf -  L<ht4It 	 Sywi 15 t=-Tt 

1. 0.375 Kw 	 2. 3.75 Kw 
3. 37.5 Kw 	 4. 375 Kw 

91. The electronic bulb on long use forms a black 

coating on its inner surface. The process 

associated with this is- 

1. Melting of tungsten 
2. Sublimation of tungsten 
3. Oxidation of tungsten 
4. Reduction of tungsten 

91. c.4 •d 4-R1 cic-t-) ;1701 f5 v1 	I i 	is 

') 	mrtA 31-r 

7rth   cokui 	ofZ5cr 	t 

	I 	t? 

1. t+ 

2. '1 N-t..1 4)1 " -f-ItTT-4.9"  

3. I st-t -I 01 3T-T-47AtT7uT 

4. •lk-t 

92. The unit of latent heat is 
1. Joules per kilogram 
2. Calories per gram per °C 
3. Ergs per k 
4. Kilojoules per kilogram per °K 

92. 1171 373T1-  cP` 	t 

1. uld Alt 14)Q1) 4,11 4-1 

2. qWf 	4,41 41 Aft °,)nc-d 
3. 3tv Art VK7 

4. I-4)cl) uic1 Alt 	ci 4-W-I At °-ff.X# 
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93. Which of the following is not an example of 
plasma 
1. Aurora boreale's (polar lights) 
2. Fluorescent light bulb 
3. Neon sign boards 
4. Incandescent light bulb 

93. 1-r-if- RIci 	# 	t 	ct>1.1 	Ldivi-ii 	cPI 	3q1 	u1 

. -ef 	t.  I 

1. 3ftt7T ,11 R 	1'-i (VRT \-T-EitN 

2. Lft--1)t 	Q-11*6 

3. f7=f-M s11 	-1 tg 

4. cTcr ti=1 -1z1- 

94. When a teaspoon of solid sugar is dissolved 
in a glass of liquid water what phase/phases 
are present after mixing? 
1. Liquid only 
2. Still solid and liquid 
3. Solid only 
4. Gas and liquid 

94. c,t, 	-c,1 44-1 -cl 	tt 	ci-)) 	trit # 'EltFT viR--II 

t I 'ia--.  -- . -rq 155T-ur 74 izr---T2f c 0 -1 	a 
'flrOM 3T4R--q1 	1:TR-2T-d.  t? 

1. -4t-zr 3T1-R--24-r 
2. t)ct)I 	-g3TT 	6) s -f -2-1-T 	cu 

3. 6)'d 

4. Ni 31,7 	c[ 

95. Which is the most fevourable condition of 
liquefaction of ammonia? 
1. High pressure, high temperature 
2. High pressure, low temperature 
3. Low pressure, low temperature 
4. Low pressure, high temperature 

95. N-I 	* 	a cfrOil 	# 	0-I 

Lift24-rd-zrr •-t 6 izict) t? 

1. 314- 	--rq, 	3.11m. 	011-1 4-11-1 

2. 3.TfcT 	.T-4, 	ct) 41 	c1lt-1 4-11-1 

3. ci-) 41 	- I--& 	Wici 	ci I LI 411-1 

4. cb 4-I 	-TM, 	3Tf. 	011--11-1 

96. Which of the following has more heat content 

1. 10g of ice at 0°C 

2. 10g of water at 0°C 

3. Both have the same 

4. Can't say 

96. 

1. 0°C 	1-k 	10 4;11H6  

f 4--1rrZ5c-1 	# t 	D-P1c4-)1 	--tsql-tf 	iii-i 	3T 	- 

t 

-q-c7  

2. 0°C ck 107,11 41qTt 

3. 	q)--1I 	cr>1 	. tsiltzi 	4-11-1 	GNI6R 	t I 
4 	c 	.9-ef flc0c1 

97. If we add common salt to water then its 

freezing point. 0 

1. becomes less than 0°C 
2. becomes more than 0°C 
3. remains 0°C 
4. can not be determined 

97, ti-r-4t 	# 	,tq-j-Tur 	-Hco 	\ icr-h) 	L.N 	\3,41ct->i 

fftS 

1. 0°C 	ct)l-f 	uilcIl  t 	 t I 

2. 0°C t 3T  	-0).  uilcli * I 

3. 0°C 	g) 	cfl t I 

4. truT -9-ef ITT ui I 	• -ict)cli.  I 
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The elements P and Q are respectively 
1. N, CI 	 2. CI, S 
3. Q, F 	 4. Na, P 

98. Match column I with column H and choose the 
correct option using the codes given below 

Column I 
Mixture 

Column II 
Separation 
techni• ue 

a) Black ink i) 	Distillation 
b) Liquid Air ii) Evaporation and 

crystallization 
iii) Fractional 

distillation 
c) Copper Sulphate 

solution in water 
d) Acetone iv) chromatography 

and water 

1. A(i), B(ii), C(iii), D(iv) 
2. A(ii), B(iii), C(i), D(iv) 
3. A(iv), B(i), C(iii), D(ii) 
4. A(iv), B(iii), C(ii), D(i) 

98. 	chIcd 4-1 I 31-k ch1Q-14-1 II 4)1 

.RT6't3 d 	cr>1 

cb1(14-1 	I 

ft13311:7 

ci-)((14-1 	II 

34-F1T cHch cf 

A) ct,i  A Ti-i-et  ) 
B) -4r4 	6cII -fIst cf)ul 	31 

i 

C) ct)ILN T<-1--- b\Z 

-14 -i 

iii)q49-1 71A-  31-1-RTri 

D) 71tTef9' 3TIR.  iv) sTht41E)171tr 

TIT.  

1. A(i), B(ii), C(iii), D(iv) 
2. A(ii), B(iii), C(i), D(iv) 
3. A(iv), B(i), C(iii), D(ii) 
4. A(iv), B(iii), C(ii), DO) 

99. A compound PQ2 has the 
arrangement of electrons 

following 99. ziTfiM PQ2  c1-)I ,ffzrr 

P 3f Q c1c-cl 
1. N, CI 	 2. Cl, S 
3. Q, F 	 4. Na, P 

100. The nucleon number of atom X is 37. It exists 100. LNI-iluj X 	 -1Ks.-11 37 	I 
as a diatomic molecule X2. One molecule of 
X2 contains 34 protons. How many neutrone 
are present in the nucleus of atom X? 
1. 17 2. 20 
3. 21 4. 25 

3Tuj €1-11cli 	I X2 	Bch 34-01 .14 

34 -cit1,-1 6)0 	Tft 	 

1. 17 	 2. 20 
3.21 	 4.25 

101. Which of the following correctly represents 
360g of water. 
1. 2 Moles H2O 
2. 0.2 Moles of H2O 
3. 6.022 x 1023  molecules of H2O 
4. 1.2044 x 1025  molecules of H2O 

102. VVhich of the following contains maximum 
number of molecules. 
1. 1g SO2 	 2. 1g NO2 
3. 1g NH3 	 4. 1g H2 

101. 3607P71-  t 	-ucrR-21d- 

1.  2 	1=1)--- 	H2O 

2.  0.2 1=1)---6-  H2O 

3.  6.022 x 	1023  3-1-ul 

4.  1.2044 x 1025  3Tuj 

3Tuj 

1. 1-4)79-  SO2 2. 171T1 NO2 

3. 11).Thi NH3  4. 1T,IFT H2  

102. 
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103. What mass of hydrogen and oxygen will be 
produced on complete Electolysis of 18g of 
water. 
1. 2g hydrogen and 32g of oxygen 
2. 2g hydrogen and 18g 
3. 2g hydrogen and 16g oxygen 
4. 12g hydrogen and 6g oxygen 

103. 18 	iszflt 	cls<6 	3TufErd'ff 
TENT 61411? 

1. 2 4,114-1 61* -1.-1 30 32 4,114-f 3T-14t79.  
2. 2 4,114-1 	AR'  18 4,114-f.,3T1 
3. 2 4,114-1 6151.1 30 '16 ;4,111-1 3‘11-4#1- 9.  
4. 12 4,1,1 4-i 61)\)-i-J 30 6 4,i14-1 31t4#1 

104. A sample Of MgCO3 contains 3.0.1 x 1023  Mg2+ 
and 3.01 x 1023  C032-  ions. The mass of the. 
sample is 
1. 45 mg 	 2. 84g,  
3. 42 g 	 4. 42 mol 

104. MgCO3 	47 4 1 	9 # 3.01 x 1023  Mg24: 
3171-9-  341-R.  3.01 x 1C)23  Co32  3T1719.  :71z.R.Q71rf 
t 1 	c1,1 	- 
1. 42 MA1,114-i 	2. 84 '1,11fl 
3. 42 4,119 	 42 ta 

105. How many moles of electrons. weigh one 
kilogram? [mass of electron = 9.108x10-31kg; 
NA=6.023x1023]. 

1. 	1  '* xl0s  2. 6.023 x 1023  
9.108 x 6.0 	

1
-13-  

6.023 10;4 
9.108 x10)4 9.108 

105. 	 qa4411-1, 1 14)01) 4,1 141 
. 1111-12 [Me = 9.108x:1Q-31  D')A 4A141 ; 
NA=6.023x10231. 	• . 

1. 	1 	 x10' 2. 6.023 x 102-3  
9.108 x 6.023 

6.023 	i4 4. 	x10-  
9.108 

3. -------- x10'' 
9.108 

1 
3..x10'' 

9.108 

106. Solubility of KNO3 
1. Increase with temperature 
2. Decreases with temperature 
3. Remains constant with temperature 
4. It is not related to temperature fluctuations 

106. KNO3  
1. 4) 	r't 
2. (-1111 4-11-f 	"Erdt t I 
3. (-11(-1 411-1 	LIRca-1 'ffei 6 	ct I 
4. c114 411,-1 	 7-Tet 

, 	 . 	 . 

107. A mixture of sulphur and carbon disulphide is 
1. Heterogeneous and shows Tyndall effect 
2.-  Heterdgeneous and does not shown 

Tynda I effect' 
3. Homo eneous and shows Tyndall effect -; 
4. Homogeneous and does not show Tyndall 

effect. 	 
108. Dry ice is an example' of which of the following 

processe 

	

1. Evapo iation 	2. Crystallisation 

	

3. Sublimlation 	4. Purification 

107. 	 04)i 	 chl ftf3Tur 
1:- 	*-tr f 	 rffr t 1 
'2. 	 fe. T& A 	RIc-11 I 

ff71-a.,-;ST9T-4 
4. Wfilt* 2,TT fdtr(9-  1:17-114 	'itUff-dT I 

108. Tler 
fturer 

 
*? 

1. ottillcmul 	2. 	s % -cc 	Ul 

3. 30c1T(19- 	4. 11c,t*),01 
• 

qpi 

109. 	 r404), I- 31Tf rq75., 	C.91-1604,  *, 
41Pct-)I APT \'111.11- 	UN 

(1‘) *Tr \4.-1(411' f())NU1' 

14.)qiArlic-11 t 1 7.4 'NM 1*6A-1 
KiTIRQ-1-ff 37134Th°1-  
1. 1-.5.x 1022  ' 	2. 	.)( 1023  
3. 2,5 x 1022  " 	4. 4.2 x 1023 

109. Ninhydrin "laving moldecular formula C9H604 

is commonly used by forensic scientists to 

detect andi analyse fingerprints. The numberr 

of molec4s in 7.4g of ninhydrin is 

1. 1.5 x 1d22 	2. 2.5x 1023  
3. 2.5 x 1 qZ2 	4. 4.2 x 1023  
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110. Percentage 
• of lead is 

Pb-206 
Pb-207 
Pb-208 
The average 
1. 208 
3. 207.302 

aboundanbe of different isotopes 
given below 
23.6% 
22.6% 
53.8% 

atomic mass of lead is 
2. 207.567 

- 	4. 209 

110. r)--4 * f4P19.  Ti1=R-P-Tri:44. 'cj Gil 	c-u'cll V. 
•cfrd-Uff 

- 	.Pb-206 
Pb-207 
Pb-208 

	

fir 	t - 
23.6% 
22.6% 

	

53.8% 	• 	 - 
. 	c 	(1,4 31tird tERTIPI 	u,4+-11.-1 t 1 

1. 208 	. 	2. 207.567 	- 
3. 207.302 	- 	4. 209 

111. Vitamin B12 contain 
1. 	Fe(II) 	 2. 	Co(III)  
3. Zn(l) 	 .4. 	Coal) 

111. f4ZTPF 812 if 	 6)C11 t 1 

	

1. 	Fe(11) 	 2. 	Co(Ill) 

	

3. 	Zn(I) 	 4. 	Co(II) 

112. Tincture of Iodine is : 
1. Aqueous solution of 12. 
2. Solution of 12  in aqueous KL 
3. Alcoholic solution of 12. 
4. Aqueous solution of KI. 

"ftqR.  112. 	31ItF 
1. 12 	cm 
2. 12 	CPI 
3_ 	12 	CO 
4_ 	KI 

34Itrt1-9" t 
- 4t-zr Rem-f 	. 
'W4P:i KI 	VR-T n,H4.11 

1 	CC-PV1(1 A R(izi-it 
cl)I - ---Azi larN-f I 

113. Fog is a colloidal solution of. 
1. Gas in liquid 	2. 	Liquid in gas 
3. Gas in solid 	4. Solid in gas 

113. 	ct2.,i 	cm 4eiRi4 1(*4.-i t I 
1. 	4\-f 4)1 Tar A I 	2. 	c.,E1 	ct)i 	41 l I 
3. 	4 4)1 d1*.1 -44 I 	4. 	6)-1 ct)f ilfl # I 

114. The oxidation state of P in H3P03 is- 
1. 	+6 	 2. +7 • 
3. -3 	 4. +3  

114. 	H3P03 	T 
1. 	+6 
3. 	-3 

.-er P 	3T I IIT tItszll t: 

	

2. 	+7 

	

4. 	+3 

115. The weight of a molecule of the compound 
C60H122 is 
1. 	1.4 x 10-219 	2. 	1.09 x 10-21g 

	

3. 5.026 x 1023g 	4. 16.023 x 1023g 

115. 	1-1iR5(-1-  A t  	cf 1".1)ct")iul 
Tga-- 	.ti t I 
1. 	1.4 x 10-219 	2. 1.09 x 10-21g 
3. 5.025 x 1023g 	4. 16.023 x 10239 

116. Calculate the number of ions present in 5.85g 
of NaCI 
1. 0.204 x 1023  ions 

1.204 x 1023  ions 
3. 6.023 x 1023  ions 
4. 12.04 x 1023  ions 

x 1023  3ti  311F2. 

116. 	NaCI 5.85 	4,i14-1 t 	Trzr9-1-  4 	tk-q-If 	*-11c-1 
cl-) 	I 
1. 0.204 
2. - 1.204 
3. 6.023 
4. 12.04 

x 1023  31g1 

x 1023  311TM 
x 1023 317M- 

117. Which 	of 	the 	following 	is 	purified 	by 

sublimation if impurities are non volatile? 

1. Cane sugar 	2. Acetic acid 

3. Urea 	 4. Naphthalene 

117. ?I-ft 	31y4UT 	cilti-Aei 	Liqlzt 	'el. 	* 	(-11, 
i+g-ifiZqci A -R4 itRi. 	LictiO 	cb) . z.4-41-tscr9-  
gRT -Zj4 	W-.  (4-) 	-g?  
1. 	--r---R-r 	 2. 	R-tract) 	31-4:1 
3. 	Tkitzli 	 4. 	-41:F2,1-41-9-  

118. In the following 
1. Sucrose 
3. Starch 

is not polymer. -  118 	1--If# 	 .4-g--6- 	.Tef t 1 
2. Enzyme 
4. Teflon 

. 	1. 	-ZI-- RT 

	

3. 	1=i-  
2. 	14)ucicr) 
4. 	1-00-1-1 
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119: In 	carbon 	disulphide 	(CS2) •the 	mass 	of 
sulphur in combination with 3.0g carbon is 
.1. 	4.0g 	. 	2. 	6.0g 	. 
3. 64.0g 	 4. 	16.0g 	

• 

- - 119. 	cpiEl•-i-10.4.)1* 	-4 	\Lie.til 	TT 	quo-Ivi 	vi" 
- 3.04.114i WI-4-ff 	31-121 \i'l-11Rric-1 	)(-fl t - 

1.. 	4.04.114-I - 	2. 	6.0,114-I 
• . 	64 	04,119 	4. 	16.0914-f 

120. 	is a semi conductor. 120.   3Tzt-ffM 	6)4111 
1. Boron 	 2. Copper 

- 3..Lead 	 4. Gold 
• 1. 	tt'M . 	 2. 	.ut-ar 

3. 	3TNT1 	 4. 	- 4-t1 

121. Which of the following weighs maximum? 

1. 0.5 mole of H2O 

2. 0.5 mold of C21-16 	, 
3. 1 mole of NH3 

4. 0.1 mole of 002 

121. 	i*.-AR.qc-r A 34 D-p,9c43.1 	q-TR 3T-434 	,rzitqr 

6)111? 
1. vid 	0.5 Tira c011 
2. C2H6  * 0.5 ita chi I 
3. NH3 	1 	it-a- 	cf->r I 
4. CO2 	0.1 	lifa. 	ct)11 

122. 	 is used for leukamia. 122. 	 .ef cvMz41 A.Rth-rr frr vitor t I 
1. Fe-59 	 2. P-32 
3. Co- 60 	 4. 12 - 131 

1. Fe-59 	 2. P-32 
3. Co-60 	 4. 12 - 131 

123. In Fe203, Fe is 123. - Fe203 #, Fe t :  
1. Monovalent 	2. Bivalent 
3. Neutral 	 4. Trivalent 

1. 	(.1.-) 	:--i-1)‘.y1ch 	2. 	- 	.(-I4)vict) 
3. 	‘4q14.-1 	4. 	f: 	- \(i zi \Act) 

124. 	gas evolved when Mn react with 124. vi ET Mn 	4 31-RfitTIT .--d-ftrf'N--d-  HNO3  * 
very dilute HNO3. 
1. NO2 	 2. H2 
3. N20 	 4. NO 

TiTzT trth t c-I4 	 4,(-r fcbeicir t 
1_ NO2 	 2. H2 
3. N20 	 4. NO 

125. 	Alloy is used for welding electrical 125. fterzT c-li 	c6) ‘3414 il 	f431 Mg 
wires. 
1. Solder - 	 2. Geaman silver 
3. Stainless steel 	4. Gun metal 

LT c61 .w-01 I I 
7-it- 1. 	v-7 	 2. 	.ft107  

3. 	,4---1Q ,k-1 3t-a. 	4. 	TM te-F 

126. Aqua regia is the mixture of cone. HCI and 
cone. HNO3 in the ratio:. 

	

1. 	1 : 3 	 2. 	2 : 3 

	

3. 	3:1 	 4. 	3 : 2 

126. 	cNr Rf*zir it *Gish HCI 3N *1Ic 	HNO3 cP [ 
3T 	M. t: 
1. 	1 : 3 	 2. 	2 : 3 
3. 	3 : 1 	 4. 	3:2 

127. 	gas is filled in tyres of aeroplane. 127. ciiT-ii-i 	ZP:It A 41I-Tft 7-ret * I 
1. Neon 	 2. Hydrogen 
3. Nitrogen 	 4. Helium 

1. 	ri-9. 	 2. 	614‘3-1-1 
3. 	-110v-i-i 	4. 	igeii-f 

128. Which of the following is the correct order of 
reactivity of metals? 
1. Mg > Al > Zn > Fe 
2. Mg > Zn > Fe > AI 
3. Al> Mg > Zn > Fe 
4. Mg > Zn > Al > Fe 

128. 	1 4--111Z5c1 	14 34 	ctl-f 37 sh4-1 z•TTg3t 	4 
-J•cv-7TH.Trelt1 

1. Mg >A1 > Zn > Fe 
2. Mg >Zn > Fe > AI 
. Al > Mg > Zn > Fe 

 3 
4. Mg >Zn > Al > Fe 

07A 
	

Page 19 of 28 



129. Electrolysis of water gives: 

1. H+ and OH-  ions in the solution. 

2. H2 gas at anode and 02 gasat cathode.  

3. 02 gas at anode and H2 gas at cathode. 

4. H20(1) convertd into H20(g): 

129. 	IC,-1 	- 'Ic13TITErd9 t 	.ILO 	c'll t : 
"- 1. 	W 3N.  OH-  31.71.9' 

5N&1 q.-1) -crRi-  2. H2 	 30 02 4 	I 
3. 02 	\Li gr-1' 	tH $%1R H. 40 *2.1)Z 1TR.  I 
4. H20(1) uld tl-  H20(g) 4ti 3WT A c4qo 

vil-fff t i 
	 • 

130. Antiknocking compound in gasoline is : 
1. Triethyl lead 	2. Trimethyl lead 
3. Tetramethyl lead 	4. Tetraethyl lead 

130. 	Ni)1.-1 #.1-143-47b1--dtV 	54ZT5 Z I . 	s• 	, 
1. 	l;P--TT-0-  Q15 	2. 	-1--A2-TT-4---d-  c,1 
3. 	tcgif42-4i, Q1 C,1 	4. 	.ti2.1-10.  c•15 

131.. -Which of the following cell organelles do not 
have double membrane ? 	 - 
1. Nucleus 	 2. Mitochondria 
3. Lysosome 	4. Plastid 

131.1 4--11-WZ.qc-1 	-4 	ft-ii 	m.-1-fictlifl-  
f -,---ell- .qtf trrzil.  kat t? 
1. 	qct) 	 2. 	4-116,1;1P-41 
3. 	c-iia•ti)J-1 	4.  

132. IR-36 is improved Variety of: 
1. Rice 	 2. Wheat 
3. Groundnut 	4. Cotton  

132. 	1R-36 \3-10 1+-3-4i t: 
1. 	 2.  
3. 	-117-cb-A 	4. 	Th-ITT\ri 

133. Vaccine' of Small pox is discovered by: 
1. Louis Pasteur 
2. Edward Jenner 
3. Alexander Fleming 
4. Anton Von Leeuwenhock 

. 	 .. 

133. -c).cico 	c, 	t-c-k, 	Th1 	\ri f -T1-4 (A, 	cI6 t: 
• 1. 	g4- 	Lit -r-N 	 • 

2 . 	,sc.14,  . 	. 
3. QW--5'< -c0f4TT 
4. ..-t..-i 	.f.i 	rl 	-16-14) 

134. Which of the following plant group is not 
included in Cryptpgamae: 
1. Thallophyta 	2. Gymnosperm 
3. Bryophyta 	4. Pteriodophyta 

, 	• 

134. 	1*--1 c-Act 14 $1-1 ,11 1:11-411 	-1 4-j,6 . ftiZr)t-f 

-9-ef t  
1. 	tA7)-T-011 	2. 	1 1---1\H-LI4 
3, 	A H-1)11)1t1 	.' 	' 	4.`  

135. Naked seeds are present in: 	• 
1. PinuS 	 2. Mustard 
3. Mango 	 4. Lemon  

135. .91-9- , €7117-- 	• LIT-k. -(31-1t t : 

	

1. 	L-11-1,t-1.# 	2. 	•fl Oi 14 

	

3. 	3TP9-  A 	 4.  

136. Vector of Encephalitis is: 
1. Culex 	 2. Anopheles 
3. Aedes 	 4. Tse tse fly 

'4 136. 	-IRO ticr) \Ycl'e 	z5, T c4164) t I 
1. 	TE0-4-R-i 	2. 	-R1114)1 ,Iv.i 

4. 	-it-  Al T-4--&r.Ji 

137. BCG Vaccine is, given for immunity against: 

1. Malaria . 	 2. Jaundice.  

3. Tuberculosis 	4. Hepatitis 	1  

• - 

137. Tsii.-4.1. -enT;7.16-R)VT - &-TTR-11 Mq1.-9.  ct),M1 

1. 	-A:-kr-ar. * f'67 	2. 41R1 * -f' ii 
3. 	U4 '<) 41 * 	4. 2tii?. 	ft7 . 	, 

138. Starch is stored in: 
1. Aleuroplast 	2. Amyloplast 
3. Chromoplast 	4. Chloroplast 	. 

138. 	,-t1 	(4-i) 	01.1.11:10i 	01 	t 
1. 	-zOcc-ik-t 4 	: 	2. 	411*eilk1i --c A 
3. 	sP)4-I)t-c-i N-t 	4 	4. 	ct-cL-Q-IN-t 4 
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139. Which animal is an amphibian: 
1. Salamander 	2. Chameleon 
3. Lizard 	 4. Cobra 

139. 	ctrl'-1 	,ffi 	kri q 	C.t.) 	kylri.-- 	Wult t 
1 	Aeil4U 	 2. 	4.4)141•-r 

3. 	1-bLict)ell 	4. 	)--41 

140. The 'binomial nomenclature' was proposed 
by: 
1. Aristotle 	 2. Carolus Linnaeus 
3. Copeland 	4. Kashyap 

140. fdlzi-4-11q EF-4{ -.  chi 541 (-11q-1 r+ziT 24T : 

1. 	3RT1 "4 	2. (W(1,6 e)f_N-1 

3. 	ct))t-ie)u 	 4. 	ct)V-1q.  

141. Companion Cell is a component of: 
1. Parenchyma 	2. Sclerenchyma 
3. Xylem 	 4. Phloem 

141. TIT4i ct))RIct)l, 31-4-44 t : 

1. 	t-).-ct)1*4iT 	ct)1 	2. 	-ctAct)1 4-11 	ct)I 

3. 	kY) l*c-iTi cPI 	4. 	TI-A-cni cbl 

142. Which of the following does not have ability to 
fix atmospheric nitrogen: 
1. Anabaena 	2. Azotobacter 
3. Nitrosomonas 	4. Rhizobium 

142. '1 4--IWZIct A, f+-3T4 cuT-kellq -ii*Oui-i 

-gf -R-2-Ti R-o-r ct), 4 - t uff-d-r 	t: 

1. 	ql 	2.kil)d), ci- Tqlt 

3. 	--11 	\9 4-1 --11fl 	4. 	‘.rj)%-14 1 

143. 	Intestinal muscles are: 
1. Voluntary and Unstriated 
2. Involuntary and striated 
3. Voluntary and striated 
4. Involuntary and Unstriated 

143. SITU 4 4T-41 * : 
1 	t -- 	,ci 31- 1-o- 

2. 	3-1-4 	c,1 - fko- 

3. 	' 	Lci 

4. 	3.14 	-R4 31- 1-d 

144. Ribosomes are the centre for: 

	

1. 	Lipid synthesis 	2. 	Protein synthesis 

	

3. 	Photosynthesis 	4. 	Respiration 

144.I 61)4-1 -11-. 	c.- 	t, 	c16 t: 

1. 	cifll 	,-ie)tiul 	2. 	-1;1VM-  \Lic,)tiul 

3. 	-A--11 	*iul 	4. 	cN-1--1 

145. 	In 	which 	of 	the 	following 	plant 	tissues, 
`Intercellular spaces' are absent: 
1. Parenchyma 	2. Cholorenchyma 
3. Sclerenchyma 	4. Aerenchyma 

145. 	1-4---11*Z1c1 	cfr4z1 	\39cict)) 	-k 	f+Ti-44 
 lamlam'Ervar uticit t: 

2. 	ctei) 	-4,1 4 il  1 M---ror 
3. 	T-ctAcbli-li 	4. 	0-4)1*4-11 

146. 	Unicellular green algae is: 
1. Ulothrix 	 2. Chlatnydomonas 
3. Spirogyra 	 4. Chara 

146. ct-)c-t))PIct) 0-tql-d-  t: 

1. 	-T-d-Tu-- i 	2. 	cte14-II 4-11-1k-i 

3. 	-t-11)4111 	4. 	*RI 

147. `1-laemocoer is present in: 
1. Octopus 	 2. Cockroach 
3. Starfish 	 4. 	Earthworm 

`pct 147. 	-1 416I' 	EfRit kril-th *: 
-14 1. 3r WIER' T-1 	2. 	ic) cd -r-40 

-4 3. 	c1N1 TIAM)i li 	4. 	c. -91-1-  

148. The antibiotic penicillin blocks the bacterial 

process that builds: 

1. Lysosome  
Cell membrane 

3. Cell wall 
4. Ribosome 

r-T

2. 

148.11-475j 	4, 	f:riu 	mf4,41 	4,1 	ociciRill2c.1-) 

--R--adt 4R1(1)--  3T-d-R1 4 	t, ci 	t : 

1. 1----,N-*r q9-4 c-tt 

2. m'rft----11t----A't 
fl1-? 3. ct))Pict)1 	-I-4 -th- 	.4-1.) 

4. ‘I*61)a4-f -e-4-1-) 
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3. fZiecN 14)V 

	 , 
158. 

1_ TI,-7 -01 A 
3_ 	 11 JI 

4_ 3iI4LaIR-1 

) tat 
2_ 	 A 
4_ ta-droi 

liver tis 	 . octopus 

r 158. Pseudocoelomis found in • 
1. Roundworm 	2 Liverfluke 
3. Planaria 	 4. Tapeworm 

159_ LI:4)144nel) 	 .1-1ReZ 
6W-I, qflit VIA t: 

qwf--gR-et tam A 
2_ Alari A 
3_ 4344) 1)-
4_ TA-11 

159. The eukarytic cell without plastid is found in : 
1 Blue-green algae 

2. Bacteria 

3. Fungi 

4. Euglena 

149. An organism having characteristic of both 
plant and animal is: 
1. Spirogyra 	2. Amoeba 
3_ Paramecium 	4_ Euglena 

149.‘1-1141114 111<4 krei uiq ‹141 	qui TR 
..a t. qt; -t : 
1_ 	ilIfF*Nill I l*R1 	2. 	311-ifeif 	i 
3_ -4-4Aftwt 	4, TrA91 

'-:150. Slime mould are classified in Kingdom: 

1. Monera 	 2. Protista 

3. Fungi 	 3. Plantae 

150_ Z1-44W tbc1ch gil, r:;ffl ‘44/ct 14 	1-, 	PPA.  
41z41 t, c 	t : 

T 1_ h-4-4r 	2_ 	141Miet  
3. 	WEL4 	 4_ 	'Lli.6 

151_ Colonial Coelenterate is : 
t Coral 	 2. Hydra 
3_ Jellyfish 	 4_ Sea anemone 

151_ TPX A ill 	k3114 4FOT seize t : 
1. 	4-- 	 2_ 	1*)1 

-iflia -44m 3. -a-LAR6ZE 	4_ 	K 

1-1 2. Bacteria which can cause acne is: 
1 	1_ Staphylococci 	2. Methanogens 

3_ Vibrio 	 4_ Aceno bacteria 

152. --E 471'44) li4Fu 	't : 
1_ 	01*eil. *--1-4--. 	1 	ltilL41 
3_ 	Rath 	 4_ 	tI

.. 
 aziftil 

153. Which of the following process occur only in 
animals ? 
1_ Respitatiorr 	2. Nutrition 
3_ Nervous Control 	4. Hormonal Control 

153. -44 kit 	•Isi34-1 . €1(.1 kriqall 1-11?-11 ul(cll t? 
1_ 	M-14 	 2_ 	thqui- 
a 	tif4N- 	lui 	4_ 	rilch- .n4-)1u1 f 	zi 

154. Which of the following metal is present in 
chlorophyll ? 
1_ Mg 	 2_ Cu 
3_ Zn 	 4_ Fe 

154. Pfl--AR4d 4 49-  a mg crei)naci -I 
gra 	ql.  t? 
1_ Mg 	 2. Cu 
3 Zn 	 4. Fe 

155_ Kala-azar is caused by: 
1_ Nematode 	2. Virus 
3_ Bacteria 	 4_ Protozoan 

1 

155. 4-,IciiuiN Wire -  gill 6)cl! 	? 
t 	ft;---la 	 2_ 	itiluj 
3_ Akfuj 	 4_ 	91 	31T 

156. 'World AIDS Day' is celebrated on : 
1. 2 December 	2. 2 November 
3_ 4 January 	4. 1 December 

156_ *44RZi21 F4-4-10 'HIM %AIM rt: 
1_ 	2 Rini-6N 	2_ 	2 - -144-1,? 
3_ 	4 uliclin 	4_ 	1 Ri14-6K 

• , _ 
157_ LtTLc-,M VOM ) ct? teN %lei 416-1 d-31' LIME

I 
1  157_ 'Water vascular system' for locomotion is 

found in - 
1_ Jelly fish 	2. Starfish 

u19c11 t . 
1 	i 	91 	 ') 

	
44-' tait1 	91 
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160_ Which cell organelles are capable of forming 

their own proteins? 

t Mitochondria 	2_ Got' apparatus 

1 Plastids 	4_ 	Both (1) and (3) 

A *?  

160. f+--RT 	-/ft-wi-Tr 	-3)- 	3p4-4 -gtaff 	4ffi--4 	(41' 

amar 
1. 	ti I 4a ct)-P-zii . 	2_ 	lif-Al klt-Ict)uf 

3. 	1-(44-di 	4_ 	(1) 	4 (3) 411- 

161_ In the following which one is a ciliated 

protozoan? 

1. Amoeba 	I Pararnoecium 

3_ Euglena 	4_ Trypanosorna 

?  

161. ft--ifiZqc-i 4 t ci-A-i WI -WWII lka-aZTT 

	

. 	ITTI-41- 	 qITIRI4-1 

	

1 	 2. 	,ZI 	R 
3. 	TA9T 	4_ 	f -LI'lkftlif 

1621:The life supporting zone of the earth is 

t Biosphere 	2_ Atmosphere 

3. Lithosphere 	4_ Hydrosphere  

--/ 162. A1-4-q cf;1 311T5gzi 	.•.r) 	(1101 Lpit cPf "E)-- 	*: 
1. 	acli-kel 	2_ 	cIIT-ief 
3 	-P--T-dl t 	4. 	ulell-iei 

163. indigenous breed of poultry in India is: 
• 1_ Leghorn 	2. Lepra 

3_ Aseel 	 4_ Dina 

163. qi-ff-d-  4 	,,iltilei-i 4 NI --z--ei t: 

1. 	( 41614 	2_ 	Al;if 
3. 	-crit-6- 	- 	4_ 	lt4f 

1647_ RainnWater which have dissolved Oxides of 

sulphur and nitrogen, forms: 

1_ Water gas 	2_ Pure rain 

3. Alkaline rain 	4_ Acid rain 

164_ -01Lif um, f --i-Tii 	flettr) 	A-  --110,1-1 
3iI-4 	LW) ‘311c) t, 4-4l4 t : 

2_ 1. 	kyld *NT 	 .qj4 -414i 
3. 	Ultzi qtfi- 	4. 	ZPAIII 4tit 

165_ Gonorrhoea, a sexually transmitted disease 

is caused by_ 

1_ Virus 	 2_ Protozoan 

3_ Bacteria 	4_ Fungus 

165. TF-IIR-4T KV1- ) kis ch TN-  '111 Cfn Cilk(t) t 

1. 	W19 	 2_ thaQ3T1 
3. 	KTI-411 	 4_ 	ct)cicri 

166_ In which of the following animals, cutaneous 
respiration occurs : 
1. Rabbit 	 2_ Cockroach 
3_ Tortoise 	4_ Earthworm- 

' 166. 	f---IfiZqc1 	,1q31I 	-4?i,1----{iii- 	--AY-zr 	cH-1.-1 
ITRIT vitcli t--- 

. 1. 	,M41 	 a 	fc,izitsdr 
3. 	- 5311- 	 4_ 	*:q3T-r 

167. 2, 4-D chemical is used as : 

1. Weedicide 
2. 	Insectiside 
3_ Fungicide 
4_ Fertiliser 

167. 	2, 4-D 	\)-1R1--f ct?i 	‘314L1) 41 ITT ulicil t : 
1. --1-1c1c-IN. 	f1ifl 	tAI -14 
2. cbIt'i A ( --1:1 ii 
3. cbc1c1111A cf) W-I 4 
4. \34,:ct) 	-. 	•nt-f-  4 

163_ Chernicai responsible for ozone depletion is: 

1. DDT 	• 	2_ CFCs 

3. BHC 	 4_ CO2 

168. 	3-1-q-k511-1 	EFR-ff 	ffq- 	(-• 	.f7 	c.61-1 	*11 	11L1,-1 , 
-c- 	t: 

1. DDT 	 2. CFCs 	• 
3. BHC 	 4_ CO2 

169. Which of the following is egg laying mammal? 
1_ Kangaroo 	2. Echidna 
3. Whale 	 4_ Bat 

-169. 	rt-ifiZgo A-, (61-t \Lir tki-1iii4 3i----w , 
1. 	c6 41k) 	 2_ 	*1--tl 
3_ 	c,,c4 	 4_ 	-r41-1 411q 
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170. In the following which is a fungal disease? 

1. Malaria . 	 2. Tetanus 

3. Ringworm 	 4. Leprosy 

170. 	1..-AfZqc-i 4 --19TIT 	)41 	cr)cich gm 611 

t? 

	

1. 	4-1(4 	?-41 

	

3. 	RIT-411 

	

2  . 	t-Cff-ii 

4. 	Cp')c (q2,td) 

ITS +I 	J-j-  -1 	IS-2 
171. If 	 the 

,h 	,ii---1 	is- 2 
t 't x= 171. qR 

1. 104 
3. 124 

N/3 -1 

value of X2  +1-391 

1. 104 
3. 124 

443-+1 

x ) 

x= 	,-- then +
,fi+2 ' 

22  is 

2. 114 
4. 144 

x2  439) 
x 

+1

-1 Y3 
, 

+1 	y3 + r- 	+ r -v3 +2 

m--r Trr9- 	411 

2. 114 
4. 144 

172. If 	--a- +-b  = 1,(a,b # 0) 	then 	the 	value 	of 
b 	a 

a3  + 1) 3  is 	 , 

1. 	1 	 2. 	-1 
3. 0 	 4. 2 

--z-+-b  
b 

=1 	a,b # 0)'t 	a 3  + b 3  
a 

2. 	-1 
4. 2 

172.4 

4-11-1 	6 411 
1. 	1 
3. 	0 	. 

173. The value of -‘12+-Nh+-si2 45-  is 

1. -8,.ri 	 2. 215 

3. 3,5 	 4: IA 

173. V2 + -‘5 +1/2 

1. 0 
3. 3,5 

- 	-1-  TIN t 

2. 2,ii- 
4. v--6- 

174. If one angle of a triangle is 130°, then the 
angle between the angle bisectors of the 
other two angle is other 

	

1. 	145° 	 2. 	155° 

	

3. 135° 	 4. 95° 

174. zift 

3.1-Er 

f --4t .1 -4-p- 	--1 Bcp 	TIT 130° t 't 
-)- . --\ruil *" -07 TriTilTr---  

-'r cOitrr 	614ii  
1. 	145° 	 2. 	155° 
3. 135° 	 4. 95° 

175. If 4V-4" =24, then (2xY equals 

	

1. 513 	 2. 	-‘f-  

	

3. 256 	. 	4. 125 

175. Trft 

1. 5‘i 

3. 25113 

4x -4Y-I = 24 ti 't (2x)' Th-T 4i1.1 6)411 

2. 

4. 	125 

(2.3Y -(0.027) 
176. If 	 K then the 	K 

(2.3Y - (0.027) 
= K tf a K V 176. Tift , 	 = 	, 	value of 

. 	(2..3r + 0.69+0.09 
is 
1. 2.273 	 2. 2.327 
3. 2 	 4. 3 

(2.3)2  +0.69+0.09 

2. 2.327 
4. 3 

4-11-1 	'11 
1. 2.273 
3. 2 

	

177. If (3x - i)' = a7 x7  +a6x6 +a5x 5  + 	+ aix+ ao , 

then the the value of (a, +a6  +a5  + 	±al  +a,0) 

is 
1. 128 	 2. 64 
3. 0 	 4. 32 

. 

=a7x7±a6x6+a5x5+ 	 +alx+a0  

177. zi-ft 
(3x-1)' 

a ( 

1. 	128 
3. 0 

a 7  + a6 +as 	 + 	-i-ai +ao ) (01 	4-11-1 	6 4 11 

2. 64 
4. 32 

178. If 	a :b =2:3, 

25by- 2ax is  
x:y=3:4then the value of 

2. 24 : 5 
4. 2 :1 

a:b=2:3, 	x:y =3:4 	tt 	c1') 

- 2ax 25by  

178. Tif4 

3ay + 4bx 
1. 5 : 24 
3. 	1 : 2 

mil,411-1 	6) 4 1i 
3ay + 4bx 

1. 5 : 24 	 2. 24 :5 
3. 	1 : 2 	 4. 	2 :1 
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184. f 184. In the given triangle RST, the value of x is 
Ez 

1. 14 

3. 	14.5 -c-14 
2. 	14.6 -41srt 

4. 14.7 

179. If 	x3 -3x2 +3x+7=(x+1 ax +bx+c 

then value of (a + b + c) is 
1. 4 2. 12 
3. -10 4. 3 

179. tfr4. x3 -3x'+3x+7=(x+l}(ax` + hx+c)  

+ b + c)   6)4 11 

	

1. 4 	 2. 12 

	

3. -10 	 4.3 

180. In the given figure, PQRS is a square. RST is 
an equilateral traingle, then the value of x is 

1. 60° 2. 75° 
3. 45° 4. 80° 

180. t 4 14.  31Te41, PQRS c.t) (14 	I RST 	cP 

	

Tiffqfgf 	t, 	x 4)1 11.1 t 

	

S 	  R 

1. 60° 2. 75° 
3. 45° 4. 80° 

181. One angle of a pentagon is 140°. If the 
remaining angles are in the ratio 1:2:3:4, then 
the greatest angle is 

181. 	-) t-l-r-Op 4)1 Bct --\fuT 140° t I zift 

Thl-ur 1:2:3:4 	3-717-1M 	t C1) 

1. 160° 2. 170° 
3. 140° 4. 150° 1. 160° 2. 1700  

3. 140° 4. 150° 

182. If the mean of age of 18 students of a class is 
14.5 years, two more students of ages 15 
years and 16 years join the class, then the 
new mean of age is 
1. 14 years 	 2. 14.6 years 
3. 14.5 years 	4. 14.7 years 

182. Tjff 	c.t) 	18 thfah) 4 a 

14.5 71 *, 15 T:1 .d-2-TT 16 .q4 

fa-ar4 ci->aTi. 	3t1-R-  3fi k1 I 

183. The value of V42 +142 + //-12+ 	co is 

1. 9 	 2.8 
4. 7 

183. 142 + Aizr -F V4/  + 	c0 ct) I 1 t 

	

1. 9 	 2. 8 

	

3. 6 	 4. 7 

1. 40° 2. 90° 
3. 80° 4. 100° 

185. If the cost price of 25 articles is equal to the 
selling price of 20' articles, the gain percent is 
1. 20% 2. 25% 
3. 5% 4. 10% 

185. u 4 25 cH-q3.11 4)1 Sb-71 T-Vsf 20 cH-q3t 

-RWzi 11- f 	tr, 	01.41-  % 6)4ii 
1. 20% 2. 25% 
3. 5% 4. 10% 

3. 6 

vi RST TI, x ct)1 4-11-1 
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186. The value of 0.272+0.136j is 
3 	 41 

	

1. 	 2. 
22 	 100 
1 	• 

	

3. 	 4. 	
9 

2 	 22 

186. 	0.272+0.1363 	PI lifri 
3 	 41 

1. 	 2. 	 
22 	 100 
1  

3. 	 4. 	
9 

 
2 	 22 

187. If a= 2+.6, then the value of 

1. 	0 	 2. 	2+-.k. 

4 	 4. 2Vi 

(et - -) 
a 

is 

2. 2+I

3. 

187. TA a ;----2+,5 6) t 

1. 	0 

3. 4 

1 	 
(a - --) cbt 1-II-1 t 

a) 

4. 2Ari 

188. In the given figure, AB1IFIG then the value of 
`a' is 	F 

42' 
6a.S" 

188. -th 414 31T6 A-, ABI1HG 6 	 t 'a' M-1 +-11.1 

-g- 	E 

42' 
6a-5' 

A 	C 	F 

10a+5° 

A 	C 

10a+5" 

H 	0 	G 
1. 8 	 2. 9 
3. 7.5 	 4. 	10 

H 	0 	G 

1. 3 	 2. 9 
3. 7.5 	 4. 	10 

189. If one factor of x4 	2 -20) is(x+5j.2  	The 

other factor is 

1. 	X2  - 4 	 2. 	x2 +4 
3. x-4 	 4. x+20 

189. 	_IR (x4  +x2 -20) chi 	) ttui--itqu 	(x2 +5) 

of 	3F-Z1- 1.1uRqu 	61+11 
1. 	X2  -4 	 2. 	x2 +4 
3. x - 4 	 4. x+20 

190. If x=7+4-1i and xy,  I ,then 

	

1. 64 	 2. 134 

	

3. 194 	 4. 149 

	

l-71  + -71 	is 
x- 	y-  

190. Tek x= 7+46-  3-fR xy =lei c-I) 1-71 + ---1, 
\,); 	Y 

chi 91-1-  t 

	

1. 64 	 2. 134 

	

3. 194 	 4. 149 

191. If 52"1-1 =25"" +100 , then the value of 32+"1  
is 

	

1. 	27 	 2. 	81 

	

3. 9 	 4. 343 

191. 	-11?, 	52--", 25' 1 +100 6) 	tl) 	32+91  15T 	'11-I 

t 

	

1. 27 	 2. 81 

	

3. 9 	 4. 343 

192. If 5 coins are tossed together, what will be the 
probability of getting atleast 2 Heads? 

1 

	

1. 	 2. 	
3 

32 	 16 

	

3. 	13 	 5 
4. 

16 	 18 

192. TA-  5ft--4 	RT.  RiT2T 3li5T - 41 	tl-  d'1 (t)4-1 

	

)- Cbli 	f r 30-  4 	4I1-41cpcil trill :- 
1 	 3 

1_ 	 2. 

	

32 	 16 

	

13 	 5 
3. 4. 

	

16 	 -18 

193. If 	
3-‘ii

,___
+21

,__ 	 then the =x+  yam , 	value of 193. 
_.p......
<fig 	

3Vi+2-6-
,_ 	-J-6" 	cl) 	(x - 	cbl - x+ y y) 

5-‘,/ 	-41/3 

HI-1 

	

1. 16 	 2. 33 

	

3. 22 	 4. 21 

51/2 - 4A/3 

(x - y) is 

	

1. 	16 	 2. 	38 

	

3. 22 	 4. 21 
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182. zfft m2 + 	I  =83  er 	in3 + 	I  
25m2 	5 	 I25m2  

l5T 

C 
2. 6cm 
4. 12cm 

B 
1. 5cm 
3. 7cm 

199 Two dice are rolled. then probability of getting 
a total of 9 is 

1 
1. - 

9 

9 
3. - 

8 
4. 

10 	 9 

1 
2. - 

1. 5 2. A4110 6 .t 0 

3. 7 4. 12 ,i)410 •(-)+510 

199. CO. TI 	 ht1 fcf>1 ItzbT 	zATP:M 9 3TT4 

.5411414)c11 t 

3. 2- 
10 

2 1 . -- 
9 

4. 
8 

9 

194. If 	 0, then the value of 

(q-Er)" 	pr 	+ gY  is  

P9 
1. 0 	 2. 1 
3.2 	 4. 3 

195. If 	 = 0, then the value of 

411-m2  -i 2 + 4 In is 
1. 1 
	

2. -1 
3, 0 
	

4- 2 

194.  

(17 + + /)2  +(p+ +(t. . 

qr rp 	P9 
1. 0 2. 1 
3. 2 4. 3 

195.  - nz+ n = 0 	4/2  - yn2  + n2  + 41n 21 
Tim 
t 1 	 2. -1 
3.0 	 4=2 

196. If m2 	
1  

- 	= 8-
3  
, then the value of 

25m2  5 
„ 	1  
+- - is 

1. 50-
1 

5 

3. 121  
5 

1. 50- 2. 25-
1  

5 5 

3. 
1 

12- 4. 151  
5 5 

2. 251  
5 

4, 151  
5 

197. The cost price of a bag and a book is Rs.371. 
If the bag costs 12% more than the book, then 
cost price of bag is :- 
1. Rs. 175 	 2. Rs. 196 
3. Rs. 150 	 4. Rs. 221 

197. k;c1) 	11 MIT k;ch 	.W1 51)?-1 	t 	2371 

Tuft 4,1 alt g-itT 4 
12% 3If4T .0-  6)41 	.41:1ff 

1. 2175 	 2. 2196 

3. Z150 	 4. 2.221 

198. In the given figure, AE=DC=13cm, BE=Scm, 
/ABC--A90° and AD=EC, then length of AD is 

198..4} 	 31I It 	AE=DC=13 t410, BE=5 

c11410, ABC=90° UP-IT AD=EC, 

A 

200. If A:B:C = 2:3:4 and A4B2+C2  = 11600, then 
the value of (A-B+C) is 
1. 20 2. 24 
3. 60  4. 100 

200. 	A:B:C = 2:3:4 .0. cT TT A2+B2+C2  = 

11600, -d).  (A-B+C) 5 r 1119 

	

1. 20 	 2. 24 

	

3. 60 	 4. 100 
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